musica de Reginaldo Budai

3- Rondo

Concerto n°1 em Do Menor

Trombone Ill &
J=120

Tuba

~y ~y T ~{ T8 w _ _ _1 779
o N dl &~ L
RN TR TN - -
i I i il e | LY

TR ~ Ll ~e AP .
- ] o Yo [Te o
~g KU [ 1] i~ \\4‘
SRR L 1
T TIN[TeA i1 H HH e | 1) Hzall
| I HH T T ~ ¢ HH HELY L
. bl NEER ’\'\ 11 Ill”l ’\'\

=
v o e * - et
|

b -+ (o) L] ~y
C ™ % L
= HA a EEEN 1 He TTTA
. NTALL LN 2 R i O] = lzsl e T
o X S oo £ 117e
e o I _ _m LB DS NoB N =
—_— -0 t
LM o T TR i~ \\4 MY
6 i i 1T —t
~t [ P iunl RN L1 AT N ASLI & \\AT IHM‘I
L] g EREE © | |]]] ]
1l B | ¢ TTT] gy <
1IN - g==g T = \JMﬂ o
] 10 - | » i)
L (1 - 1 Ihib L1 l_uf LI EEEE Ll 1T
T ~d ~e NEER \\1' -+ ~e | b
TN s b
\HHI 1) m ~t il R} L ~t
N[+ ] TN 1 » B TTOA
WA L ¢ ke TTT] A M AEER
1 BEER RS n o 1T \\j [ BER a L]
SN TN T i~ Lol N TN € »
et ™~
Gl L L
© i e L ull RN ®

0 ‘
N
— 4
1 1

syl | i
m === TN e e 4 L .1 _ _ '
& & 4 4 i . i)
m of |o . L .

b A |
) e

[ £ [ £ [ N [ N [ £ [ N [ N
| | N | | N | | |
I I I Jon Jon I I LN I
o~ o~ p - v S Dy N~ S () Q |y © |y ™
- N N~ N eo] © N © N 9] N o N < N o] N o)) N <
— ¢ ™ ¢ o) ¢ ~ ¢ — — ¢ — N N ¢ N 9 ™

o

ee-sc

35

)y o=

)b
325


http://www.free-scores.com

I 2
1]

12

Concerto n°1 / Rondo
Trombone Il & Tuba

v

376
)b

| |||| |||| |||| . m ||||
~y ~y 1 _ _ 1 ~y
~y —O g <2
JIhIL (LS Il p-
™ Wl \ _6 N || N
~ NEER 2
~ | | N || )
e o L T MLERNILS
] L] N E 11] 1l
N T ~e i)
Te)
T o m L il
IIIIA_.f i 1 H H|HWH - n1 1T
e = ®
~ i1 0
f Hunll i1 ,
® Y i w“ i 1L
1T T -+ H ~G L
b A —INTTe Y [Te I 1]
Tden N\ . [
Jo o | L _ _ v .
\ NN HH L)
—_ |||m ~C \\l!\l_u'rm —h
N L]
T . o .- U - _1 ml
NN
~C |||\| W/ANE H1H HH
1T ~ ﬁﬁ TN =
v> ‘P\ - Lyl - Ty m II-II
.ﬁ L) I 1 um
f\L\ TTNTTe LA ~t ~e MMW
BERE ]
NI R TTT]
1T 1T 1T ||H| 1T i
_ _1 > ~y ~y 1 _ A.v 6 1 j
§ (N TR TR " | I
9 o ¢ o R < o (T <t o
2 & g @) g @6 R ~OE) e G o 6

J=120

ee-sc

!

E
| Y
J. =120
11

18

19
19

v

553
)b
562
)b
594
602
611



http://www.free-scores.com

N1 IR

<
/

Concerto n°1 / Rondo
Trombone Il & Tuba

Fe

€
€
<

<
T4 [rm ©

<| et

€
S

=

)=

620
629
654
)b
662
)b
673
683

-

694
ra X
hdl X/
713

]

[ T7

IR

N

=

=y

T

7
ee-sc

I

< o e e =

/

I
A A

/

ee =

[

725
)b
733
)b
745
751


http://www.free-scores.com

